Multiple Choice Questions € X /
Show all your work on the page where the question appears.

Clearly mark your answer both on the cover page on this exam V Y "\ %
and in the corresponding questions that follow.
. 02>~

1. The owner of a coffee shop decides to sell a blend of her two most popular types of coffee. The
premium roast costs $10.50 per pound and the classic roast costs $6.50 per pound. How many
pounds of the premium roast should she include in the blend if she wants 20 pounds of the blend
and she wants to sell the blend for $8.50 per pound? 20 f

ptc = X0 = <=

Possibilities:

_ . 560920
(@) 7 pounds of the premium roast 6 9 0- Cc + / 0, 40 ,7 - 2 % O
(b) 8 pounds of the premium roast

~ = |70
(c) 9 pounds of the premium roast 6 7 0 ( A0 — [9) F / O ‘ 70 F [ 0
Ounds of the premium roast (P c. 9,0P -, 9_0/0 ~ >0

(e) None of the above
4,0 =40 = p= (O poudd

2. Determine the equation of the line that passes through the points (2, —3) and (4, —4). Write the
line in y = mz + b form. ( ’})___ [ ¢ -
ol

P .b.l.. 4 : Q\ L([ = ——>—

0SS1D111 :

S ~= Dl -2
y=—(1/2)z — 2 %

© y=(Q1/2)z+2

S ¥ ( 2= 4

3. Determine f(1), given g) -

4 + 5, forxz > 2

Possibilities: ‘@( (> — _— i

(@ 0
(b) 2
© 1
(d)

e) —1




4. Solve the equation z3 + 4zy + 5y = 8 for y in terms of =

_ 3
Possibilities: L{,k‘é + G } = g — )(
()y_ —Z | g ) 3
iz + - g
b) y=8—2*—4z -5 (43(’(/(7/? 2
4z 4+ 5 5‘,’ X
(c) y= 5% _ _
yo o T
23 —8
(e)y=4m+5

5. The line y = z intersects the curve y = 5z — 16 at the point (z,y) = (4, A). Determine A. (i.e., find
the y-coordinate of the point of intersection)

— /6 X = 7x-16
Possibilities: g% 7 ) = U= (6

(a) 3 Ny puseny
) 7/2 | =) A é%
c S;) = X =
(d) 9/2 j

e) 5

6. A train leaves city A at 8:00 am and arrives in city B at 11:30 am. The train leaves city B at 11:30
am and arrives in city C at 1:30 pm. The average velocity from city A to city B was 42 miles per
hour and the average velocity from city B to city C was 64 miles per hour. Determine the average

velocity from city A to city C. 4 N @ 3 5‘ L\ lf‘f' é/ 2 o /) h
Possibilities: (; s 2\ l/\ r 7 6 4 m /A

(@) 57.00 miles per hour g L/ /1" s
(b) 114.00 miles per hour 147 w! Ie /'

: Disla—e
T 50.00 miles perbett
(d) 137.50 miles per hour P(éfﬂf"'z \‘9 ‘}OC — 64 VVIVL\ ;Z hrs

() 59.33 miles per hour — [RE wmilery

Tolal Dzt = A7 eniles

2‘75’%‘{6@
%? hv\' i 9\0 m/l/\



7. Determine the average rate of change of g(z) from z = —1 to z = 2, where

g(z) =2> + 5z + 14

g(N-q(-0) _ (345 2 +14) —( () % 5C1) +4)

Possibilities:

(c) 8.00
(d) 10.00
(e) 14.00

Ta_ (<D =

8. Determine the value of A so that the average rate of change of f(t) fromt = 0tot = A is equal to
9, where

o

9. A particle moves in a straight line. The position of the particle, in meters, after t seconds is given
by
s(t) =t +2t

Determine the average velocity of the particle from timet =1tot =1+ h.

5 (1) s

Possibilities; . ... - / ’&A — | 2
—— e e o o * .
Q(a) Average velocity = 4 + h meters \\\ = 6 +h) + A+ h) ({ 2 U

persecond . .-

(b) Average velocity = 2 F ; meters per second

5 ,
(c) Average velocity = 2h + 2h + h? meters per second = A% 2h +h =+ ,Q{GQ L\ "/3/
(d) Average velocity = (2h + 4 + 2h + h?)/h meters per second b

(e) Average velocity = 2h + h? meters per second _  Uh e (L(__(.LD{,’

n h




10. Find the value of z for which the tangent line to y = 5z2 + 3z + 2 is parallel to the line y = 9z + 2

g/%i T C i

__ | — -+ 5
@ 15 g = 9'02)(+3 /0* 7

®) 0 barslol to v w sl T
© 1/5
(@ 2/5 Weed ([9»(+3*:7

>3
T Os=C = X7 &

Possibilities:

11. Suppose f(z) = az® + br + ¢ for unknown values a, b, and ¢, and suppose f'(z) = 10z + 4.
Determine the values of a and b.

/ 4 Lo, 1
Po§§1_ls)_11‘1t1/es.,_S u(: ()() = /;ZC\)/ + ©
4 ja) o =5and b=4 ::;/ / Q ,;( + q//
By a=10andb=4 e G
() a=4andb=5 Qa = (0 = A =
(d) a=4and b= 10 b = (-f

(e) There is not enough information to find a and b.

Y

. . 2
12. Determine the limit P i3pan 2w 24 L

MBI —r3 T R ¢.2+43

Possibilities: oot

1

(© 0
(d) 1/12

(e) The limit is infinite or the limit does not exist.




13. Determine the limit

Possibties:

(c) 1/3
(d) 2/3

z? — 3z +2 D (M)(k’2>

alclil}l 224+ —2 }X-a( (M)(_;( +2>
N G
X a4 12 2

(e) The limit is infinite or the limit does not exist

14. Determine the one-sided limit

WMgL In

. |2z +8]
lim
z——-4- T+ 4

 vabua patper — 9, Epdj:’w

Possibilities: ' Y ) ) 9,}
~Y4,00]) +
@ 4 — Y00l : A
(b) -4 —Y,00(+ ¢
© 2 _ |- s.002] -
= |- ©°- 7721 _ —
d) -2 Y . :
(e) The limit is infinite or the limit does not exist ‘
15. Which of the following three statements are true? T’Q Y £

(I) If the graph of y = f(z) has a vertical asymptote at z = a then lim f(z) does not exist.

o FALSE

(I) If the graph of y = f(z) has a corner at z = a then lim f(z) does not exist.
(II) If the graph of y = f(z) has a jump at z = a then lim f(z) does not exist. I /K Q( =
T—a

Possibilities:

(@ Only (III) is true
b and (III) are true
(c) Only (I) is true
(d) Only (Il) is true
(e) (II) and (III) are true




16. Find the value of A which makes f(z) continuous everywhere, where

2+ A, if =<5
(z) = :
5/, if z>5

Possibilities: > 6 > q

(@) 2 . >

b) A=-24 QW« X +/] = L 4 j;
- - G

© A=—25 =>4 , |

d A=-1/5 9' +/4. - %

(e) No such value of A exists

17. Determine the equation of the tangent line to f(z) = 4z® — 2z + 13 atz = 2.

oo = L) = Tx-2
gy Fa—z - (4
Ca)= ¢ 2= p2+I13= A7

[ (—2)

Possibilities:

(@ y=25(z+2) - 14 T
b) y=14(z+2)+25 '°M
() y=14(z+2)—-25
(d) y=25(z -

2) — 14 9/——— ;((7 -
© y=14c-2+25 >

e e

18. The graph of y = g(«) is shown (solid), as well as the tangent line to the graph (dotted) at z = 1.
Determine g’(1).

Possibilifi / 5/ T ¢ e (3,4) -7
ossibilities: |V\ 12) o7
= 9=k ’ e
1 = g..l )
© 5/2 3 ad R
d) 2 _ 3 T
e) 1/2 - ; v




19. A particle is traveling along a straight line. The position of the particle at time ¢ is given by
s(t) = —16¢2 + 70t + 125. Determine the velocity of the particle at time ¢ = 2.

| Possibilities: S 4 ( lL) — Ve / Ocﬁzj
‘i 11 = — %)Lt + V0

(c) 16 ,
(d) 21 - //ol)/f‘ — 3202+ 20 = O— 6 %

(e) 26

20. The graph of y = f(z) is shown. Select the correct answer.

Dis ¢ ond inaours -
on ‘9 |

D = ’ /C@V‘V\QJF)

Possibilities:
Fatco. Fels o

f(z) is neither continuous nor differentiable at z = 1; f(z) is continuous but not differentiiable

—at-%= 2
oy Treae
{ ) is continuous but not differentiable at z = 1; f(xz) is neither continuous nor differentiiable

t = 2 >
- ' A =ql<a
M (z) is continuous and differentiable at z = 1; f(z) is differentiable but not continuous at
T =2
E?q, co T 2
(d) f(z) is neither continubus nir differentiable at z = 1; f(z) is neither‘c"lg:l{i\nuous nor differen-
tiiable at x = 2

-~ v .
(e) f(z)is differentiable but not continuous at z = 1; f(z) is neither continuous nor differentiiable
atz =2




